Assembly Instructions

LCC-119 High Adirondack

Required Tools:
- 7/16” Wrench or Socket

- Hammer

Hardware:

- (4) 1/4" x 4" Bolts

- (6) 1/4” x 3" Bolts

- (4) 1/4" x 2 3/4” Bolts
- (14) 1/4” Flange Nuts

e i

@ y4atx 3 bolts

EVETo 0 i g

3

(2) 1/4" x- 4" bolts
(2) 1/4” x 4” bolts

Step 1 Step 2
Using (2) 1/4” x 4" bolts, (3) 1/4” x 3" bolts, (5) 1/4” Turn Chair over and repeat Step 1 to attach leg to
flange nuts, attach legs (D) to chair back (A) and chair other side. Once chair is together using a 7/16"” wrench

seat (C)- DO NOT TIGHTEN NUTS AT THIS TIME. or socket, go back and tighten all connecting points
with nuts provided.

WILDRIDGE

PURVEYORS OF QUALITY POLY FURNITURE




Assembly Instructions

Step 3

Using (4) 1/4” x 2 3/4” bolts and (4) 1/4” flange nuts,
attach the chair legs (D) to the foot rest (B). Tighten
using a 7/16” wrench or socket.

Complete!

(4) 1/4” x 2 3/4" bolts

WILDRIDGE

PURVEYORS OF QUALITY POLY FURNITURE

www.wildridge.com
\ 330-893-4212 © 2017




